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1. Define or describe following terms. ( E BT THIH23)
a. (5%) Statics (1)
b.  (5%) Coefficient of rolling resistance ( FEBEEHR{AEY )
. (5%) Mechanical efficiency (&ML )
d. (5%) Unstable structures ( TGEMHIELHE )

2. Convert following units in terms of kg, mm, and sec. (EHCTHIRBEAT » FRA kg » mm
K sec FIFHE)
a. (5%) 1 Pascal (MEJJEA(T)
b, (5%) 1 Watt (THEEAT)

3.

(20%) For the crane shown, determine (a) the force in the link CD, (b) the force in the brace
AC, (c) and the force exerted at A on the boom AB.
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